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3/3 iotlsll ailnio JISLal clisY oWgzadl o alwdow plaziwl 1Q.1: P1

Determine the transformation that CCaiillaia GalCAN Jaa 3 Jagadl) aas

makes the two shapes identical.

diyel] uelnill Oloyiall

MAT.3.05.02.001 o

Atal

Dilation

ol

Reflection

BUTE

Rotation

iy

Translation



3/3 sdollsll wlidiall (58 Llgl andlll wlwlsll sl=] :Q.2: P1

Find the value of x in the figure. JSEN A X daid aagl

iyl draddsill Sloyaell

MAT.3.08.01.009 o

: X = 65 :
E
x =115
b
x =110
.C
Xx=90
d




LlgsJl o WMl o= :Q.3: P1

3/3 :dolsll
Which of the following pairs of angles Lles Jier 459 g zlel o 6
represent alternate interior angles? fdlalile dulala

diyel] dnealnill Oloyiall

MAT.3.07.05.002 o

23,45 E
' a
21,22
.b
23,27
.C
21,27



ailaio JISCal sl oMog=dl o @ludw plaziwl :Q.4: P1

3/3 :do M=l
Determine the two non-congruent COpulhial) e culEY) ads
figures.

diyel] uelnill Oloyiall

MAT.3.05.02.001 o




:
|

B
-
C




&lao (59 ad>1l Llgyl olwld ggoxo sl :Q.5: P2

5/5 :dolMslI
Find the sum of the measures of the 2 a1l Lo 3l cluld faane aagl
interior angles in the regular hexagon - aliiial) &)L.b‘i’l cohiad] SN
shown.

iyl draddsill Sloyaell

MAT.3.09.02.001 o

E 720° E
; i .a
540°
b
360°
.C
900°
.d




5/5 :dolMslI
Use the distance formula to find O ABlesall alag) (B dBLucal) (538 aadicd
the distance between the pair of L Caaiagit)
points. W(7,2),X(1,10)
W(7,2),X(1,10)

diyel] dnealsill Oloyiall

MAT.3.03.02.003 o

15
.a
10 i
i b
14
.C
12



3/3 :do sl

Select the appropriate sentence to

wowlid uld y als :Q.7: P1

Wyl JLasY Lucliad) Alaal) i

complete the geometric proof. atigl)
= - 3 >
21 5
Statements Reasons sy il ylead!
amA=2wm/3=94 | Given S budaagd | a. ms1=2x ms3 =94
b.m{1=ms3 | b. m£1= m£3
.2r=94 | Substitution ' gbs gait} c.2r=94
dx=47 |Division Property of Equality Wil P Ll Lols g7

Ak Gl Lg! BELLA L3

Corresponding angles have equal measures

diyal] duslnill Oloyiall

MAT.3.07.05.003 o

A Galadl) \gh s ALlaal) Llg 3

Vertical angles have equal measures

Ao _ulidl) gl Alaliial) Lafal Lig 3l

Alternate interior angles have equal measures

Alternate exterior angles have equal measures



3/3 :do sl

Triangle JKL has vertices
J(3,1),K(7,—5), and L(5, 7).
Determine the coordinates of the
vertex L’ after the triangle is
rotated by 180° clockwise about

the origin.

31>Vl Sginll (sde Lily wlyeall Juies :Q.8: P1

3J(3,1) Gusid & JKL Gutial)
.L(5,7) sK(7,-5)

gl Gliall (hgs aa LY ) o) 2k
dhii Jga delod) oylie slail 180°
W=

diyel] dnealsill Oz yiall

MAT.3.05.01.008 o

(=7,5)

(=5,-7) :
i.b

(7,5)

(=5,7)



5/5 :dols)| &lao (88 da>lgdu>) s aygly ywlid sl=y] :Q.9: P2

Find the value of x in the figure. JSEN 8 X dasd aagl

diyel] uelnill Oloyiall

MAT.3.09.02.002 o

X = 116° i
! a
X = 70°
b
X = 244°
.C
X = 290°



5/5 :aousll silasVl el (sde Wil ol Juios :Q.10: P2

Which of the following translation Sdaiagall AafiY) Cuas Aa))) rasi

notations describes the translation

shown?
Ay M .
J |
o
. MIK |
X
J L
e
dayell o=l Ol> )yl
MAT.3.05.01.004 o
xy) > x+1Ly+4)
.a
xy)->x-2y-4) ]
: .b
(XrY) — (X - 1;Y - 3)
.C

xy) -xx+1y+3)



gy Linioll wlslaoll o= :Q.11: P2

5/5 :dolsJI
Which of the following is true dilially ABC &lial) (o prania b Laa (_;,-i
about triangle ABC and triangle *DEF
DEF?
F A E
A
5
6
D
B 8 C
diyel] dnealaill Oz yiall
MAT.3.05.02.007 o
ABC~FED
.a
DE _ EF
BC AB
.b
DE _ EF E
BC = AB E
1.c
ABC = FED



3/3 oVl aaUniodl JSLoW (glaidl wl,le als :Q.12: P1

On a workshop, the roof slants on (Omilal) o (Al jaals cJes ddiyg B

the sides, creating two trapezoids. ciaie dadi Gallal L opdate dudi UgSa
Trapezoid ABCD is congruent to KJIH a)aia 424 2a ABCD
trapezoid KJIH. JK 2yl
Find JK.

3.3m
3.0m D H
doiyal] dadsill Sl piall
MAT.3.05.02.003 o
3.0m
.a
3.5m
.b
3.3m i
e
4.5m



3l Vl Sginll (sle Lily wlwSsVl Juies :Q.13: P1

3/3 :do M=l
The figure is reflected over the Y ssnall e muagall JSAN Sl
y—axis. Find the coordinates of B dhail) cildiaa) sl
point B.
by
=Ca
\\’”:" B\
= : , |
\‘..-7 r |.' x
TV
y
dasiyel| daarlsill Ol yrall
MAT.3.05.01.005 o
(2,1)
.a
.......................................................................... -
1
'
(1,2) ;
i.b
1
-------------------------------------------------------------------------- o
(_1! _2)
.C
(—2, _1)



5/5 ol agiliio wlilio oan Jluo J> 1Q.14: P2

How tall is the building? felisl) Joh lada La

30m
dniyell dnarlsill Oloyiell

MAT.3.05.02.008 o

h = 125
.a
h = 100
b
h = 150 i
L
h =90




g Lo JISal sbiw) wWog=il polazsowl :Q.15: P2

5/5 :doll=ll
Hamad enlarges the photo daiingall fyguall €l das a2
shown by a scale factor of 2 Agie b At 2 (wbidal) Jalza ddacig
to be printed. o 10 cm bl 5y pall aladf il
If the original photo is 10 cm by 4c gdaall 3y gpual) aladf Le <15 cm

15 ¢cm, what are the dimensions of

the printed image?

iyl dranlsill Sl yaell

MAT.3.05.02.006 o

12cm x 17 cm

.a
5cmx7.5cm

b
20 cm X 30 cm E

I.c

8cm x 13 cm




ilo stV usi Juiod pwliaoedl ©Moleo plazuiwl :Q.16: P2

5/5 :doMsJl
Calculate the scale factor of the il Jalea ubiia Cuaal
dilation from figure A to B? ‘B A A & e

=Y

iyl dranlsill Sl yaell

MAT.3.05.01.010 o

1
4
.a
4 :
i.b
3
.C
1
3



5/5 :dols)| O,9elnd @b plazewl Sl J> :Q.17: P2

What is the length of a kite string O (X) gyl §yitall Jad Jsh o8 Le

(x) if its 5 m above and 12 m e 12 m sy e 5 m elds)
away from the kid? ¢ Jakat)

12m

iyl dranlsill Sl yaell

MAT.3.08.02.004 o

x=10

.a
x =13 :

i.b
x=12

.C
x=15



O,eelud @,k plazewl 1Q.18: P2

5/5 :do\sll
Write an equation you could use Al Lgaladiin) dligay Al ddalaall 53
to find the length of the missing LBl alal) b
side.
8 m
L]
6m
am
dasiyel| daarlsill Ol> yrall
MAT.3.08.02.002 o
a = 82 + 62
.a
.......................................................................... -
|
i
a? =82 + 62 ;
i .b
|
-------------------------------------------------------------------------- ol
22 = 82 — 62
.C

a=8+6



&bld lopehs, Guousiuwo o WoSiall Llgyl (w M)l i :Q.19: P1

3/3 :doll=ll
In the shown figure, suppose O pasm) uagall JCa
mz1 is 50°. .50° gsbui mz1
Find m.3. ‘ML3 taf
¢
S = 13 >
= 5\6
doiyell daoulsil] Sloyael
MAT.3.07.05.002 o
.......................................................................... -
'
ms3 = 50° ;
{ &
-------------------------------------------------------------------------- ol
mzs3 = 40°
.b
mz3 = 130°
.C
mzs3 = 140°



3/3 siollsl 3l Vl Sginll (sle Lily wlwSsVl Juies :Q.20: P1

If point A(2,—3) is reflected over .x sl ,o A(2,—3) dhail) cuuked) 13)
the x-axis. A clila) al

What are the coordinates of A?
dbiyell dpaplsill Olzyall

MAT.3.05.01.005 o

(—2, _3)
(2,3) i
i.b
(3,2)
.C
(_3r _2)



